1 20Km
2011 5 15 10 00
1 c=bh-a
0) () S
31 0k 2011/3/23 11:43 2011/5/13 10:50 12540 2011/5/14 10:42 12710 23 52 170
(7.1 psSv/ )
32 - 2011/3/23 12:14 2011/5/13 10:36 29070 2011/5/14 10:20 29460 23 44 390
(16.4 pasSv/ )
33 K 2011/3/23 12:32 2011/5/13 10:12 16530 2011/5/14 10:03 16730 23 51 200
(8.4 paSv/ )
2011/3/23 13:08 2011/4/24 12:03 4486 - 6080 - -
34 30k 91
2011/4/26 15:42 2011/5/13 12:44 1503 2011/5/14 14:32 1594 25 48
(35 psv/ )
79 - 2011/3/23 14:09 2011/5/13 11:16 14220 2011/5/14 10:53 14410 23 37 190
(8.0 puSv/ )
1 - 2011/3/24 15:20 2011/5/13 17:00 1026 2011/5/14 8555 1036 15 55 10
(0.6 paSV/ )
. . . 7
84 a0k 2011/3/25 10:40 2011/5/12 9:42 205 2011/5/14 957 212 48 15 (01 Sv/ )
. . . 9
76 ok 2011/4/2 11:35 2011/5/13 10:40 418 2011/5/14 11:31 427 24 51 (04 Sv/ )
21 2km 2011/4/8 13:18 2011/5/13 14:48 2679 2011/5/14 14:04 2750 23 16 n
(3.1 paSv/ )
c/z
0.0
12 4 5 24 1 20km 2011 4 10 22
1-2

34

. (http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)
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